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E 1,153,855 92| 1,123610 89| 1,110,721 8.8| 1,062,530 8.4] 1092674 8.7
I B8 19,617 9.3 19,156 9.1 18,363 8.7 17,706 8.6 18,092 8.8
BFRBHK 2,357 8.6 2,359 8.3 2,229 8.1 2,078 7.6 2211 8.1

v9-EBR<INE 1,932 8.6 2,012 8.6 1,868 8.2 1,737 7.7 1,851 8.2
ERmEm 491 9.7 485 9.4 473 9.0 438 8.4 464 8.8
EEsn 885 9.4 982 95 884 9.2 846 8.7 900 9.2
3R 45 BT 65 7.4 58 6.6 69 78 62 7.2 68 8.0
= AnET 43 74 39 6.7 41 7.2 26 46 41 7.2
JIiBET 82 75 77 7.1 69 6.3 70 6.5 85 78
+RET 33 6.5 26 52 32 6.5 27 55 14 2.9
J\EZHET 81 6.1 93 7.1 85 6.5 58 45 78 6.1
=Nk 78 7.1 71 6.5 60 5.6 61 58 61 5.9
A=)k 22 75 31 10.6 18 6.2 14 49 16 5.7
fEIE BT 140 7.2 146 75 128 6.5 135 7.0 124 6.5
JEILET 12 6.9 4 24 9 55

L A—INet 425 8.7 347 7.1 361 75 341 72 360 7.7
AL 425 8.7 347 71 361 75 341 72 360 7.1
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£ = 1,089,818 86| 1,091,150 8.7| 1,070,035 85| 1,071,304 85| 1,050,806 8.3
s B2 17,696 8.6 17,506 85 17,327 85 16,887 8.1 16,851 8.3
BRNEEK 2,125 78 1,804 79 1,801 8.0 1,797 8.0 1,860 8.3

BUa-F BRIV 1,799 79

ES- b 497 9.2 456 8.4 512 9.5 494 9.0 523 9.5
Pk 843 85 893 8.9 841 85 833 85 875 9.0
IR AR ET 67 7.9 79 9.3 74 8.9 52 6.2 74 8.8
= HNET 47 8.3 34 6.0 42 76 48 8.7 52 95
J1I D ET 79 7.3 77 7.2 77 7.2 79 75 69 6.6
tRET 28 59 23 50 1 24 29 6.5 18 4.1
J\EEET 64 5.1 58 47 58 47 66 55 61 5.2
=]y 37 3.7 53 5.3 45 46 52 55 45 48
- A=IIES] 17 6.2 9 34 11 43 17 6.8 11 45
fENE BT 120 6.3 122 6.4 130 6.9 127 6.7 132 7.0
3 1LET

T A—INEt 326 10.4
ML 326 70
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